Graph the compound inequalities.

COMPOUND INEQUALITIES HW

KEY

Name:

p
1) ¥x=0orx»2

2] %A>-1and x<3

s
3} -4<x=4 4 XxzS50rx=-6
T A 4 1 ] 1 T 1 T T
4 5 4 -3 2 -4 0 1t 2 3 4 5 &6 v % 5 4 -3 -2 -1 0 1 2 3 4 5 ¢
— )
5 10>x>-8 6 x<9andx=z3

_-)‘

18-15-12 9 6 -3 0 3 6 9 12 15 18
. =4

7} x=-2and x=-5

o

11

8 x=120rx<-16

b e E
-30 -X-M-15-10 5 0 S 1D 15 20 2% W0

\.

e
4 5 4 -3 2% 01 2 3 4 5 8 2 -X-16-12-B 4 0 4 8 12 16 20 M
N Lt
Pt By AR )
9 x>103and x<20 10) -3<x<1

-6-5-4'3~2-10i23£56

\ -’

Solve each compound inequality and graph its solution.
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